BFABEFANLODLXE

1.A % & B
A K OB OB | AEOESY
BEEEETER TROEFEEEETE
2.2 H AN A

2 HEF A aANVYUEFXE
RUEEQET | BRTARTEEE T Eh5E T
TECER | smmansannexEEm
(Imi(m“’m*?;ﬁg BT RE TEH0I B HENE KSR
I$o)*§ﬂ“'%l‘f& AE 4SS [+
(@ @ ) | HES
I =2 0 B E EEH1EDEEE

YaA—TFTRIVTILHS—EEHE
(= om=) | IMC2500F
T & SFI5E4A18 i SFI10438318
(B 47 % m) ™ o A
* #l = 56.5 %

&N 13,200 M./ A (FithE

(bEH# %) 871,200 M (FiAH)

2 ®# 2 #®

INTA—T R /50 400 ¥

: H5— 200 4
(7RARZ) 3,000 [ (B4

() IFELSNRDIZHDISAE




A H OB O#
(84 M)
# % AALBT BB F 52 i (BiR)
B EAS S Sl ] SR A fHngs
P RREI s ey ARAELLATR (EMEI&DARL) . /E“{H‘}ff 20650
NT = 7k 8000 m
#t 28650
HET (WAR) # 5 BAE SRS (Biik)
BRI 5 H TR 301 BBk K B - .
2 maxs ¥10 2 mmxs £10
= I5H e = pr=g=| Bz
| ESXEER S B | EEXEEH SEE (B
FAEE 11,400 RS 20,400
1) Y~ NT s 7k 5,000 9 | (bR 7130k NT 4= 2k 10,800
it 16,400 B 31,200
FEfEE 19,500 TR 21,000
2 | () 1Py s NT = 7k 10,300 10 | () T AN HA N 75— 10,300
it 30,300 i 31,800
FAEE 19,500 AR
3| () A~ EsHE [Tk 10,800 1 NT 4 2
it 30,300 i
FEfEE TR
4 | () =k — NT = 7k AN ERE 12 NT = 7k
i i
St 13,200 IR
5 |asTUBT R [N Ak 3,000 EHL 13 NT = 2k
it 16,200 it
FEfEE 21,000 TR
6 | (f) f4 B NT = 7k 16,100 14 NT =7 2k
it 37,100 it
AR 19,800 FAEE
7| (k) AT NT = 7k 10,800 15 NT A= KR}
it 30,600 it
FfEE 20,300 TR
8 | (bk) 2=F NT = 2k 10,800 16 NI 2k}
it 31,100 it




